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. Table A.2 Percentiles of the distribution
Table A.1 Areasinone tail of the standard normal curve

| o0 0.01 0.02 0.03 | 004 a.05 0.06 0.07 006 | ggq >w2;oi.ﬁ_=_ |
1 T =
0500 | 045 | 04%2 | 0488 | 0dse | O4B0 | 0476 | 0472 | 0uss | ga 0o | b ‘ 0005 | w005
0.460 0.456 0.452 0.448 0.444 0.440 0.436 0.433 0.429 0425 1 12.706 31.821 % 63.657 636.619
0.421 0417 0.413 0.409 0.405 0401 0.397 6.394 0350 | g3g 2 4303 6.965 9.925 31.599
0.382 0.378 0.374 0.371 0.367 0.363 0.359 0.356 0352 03¢5 3 3.182 4.541 5.841 12.924
0.345 0.341 0337 0334 0.330 0326 0323 0.319 0316 0313 4 1.533 2132 2.776 3.747 4.604 B.610
0309 | 0305 | 0302 | 029 | 0295 | 0291 | 0288 | 0284 | 0281 | ga ’ M6 20s ) 25T | 336 | 403 6.869
0.274 0.271 0.268 0.264 0.261 0.258 0.255 0.251 0.248 0.2¢5 6 1.440 1.943 2.447 3.143 3.707 ﬁ 5.959
0.242 0.239 0.236 0.233 0.230 0.227 0.224 0.221 0.218 0215 7 1415 1.895 2,365 2.998 3.4%9 | 5.408
0.212 0.209 0.206 0.203 0.200 0.198 0195 0.192 ¢.189 0.187 g 1.397 1.860 2.306 2.896 3.355 _ 5.041
0.184 0.181 0.179 0.176 0.174 0.171 0.169 0.166 0.164 0.161 g 1.383 1.833 2.262 2.821 3.250 ﬁ 4.781
0159 | 0156 | 015t | 0152 | 0149 | 0147 | 0145 | 0182 | 0040 | g * VT2 ez 228 ) 276k | 316 | 4ser
0.136 0.133 0.131 0.129 0.127 0.125 0.123 0.121 0.119 g 11 1363 1.796 2901 2718 3106 4437
0.115 0.113 0.111 0.109 0.107 0.106 0.104 0.102 0100 X 12 1356 1.782 2179 2.681 3.055 4.318
0.097 0.095 0.093 0.092 0.090 0.089 0.087 0.085 0.084 13 1.350 1.771 2.160 2.650 3.012 £.221
0.081 0.075 0.078 0.076 0.075 0.074 0.072 0.071 0065 | 14 1.345 1.761 2.145 2.624 2.977 £.140
. 2 15 1.341 1.753 2131 2.602 2,947 4.073
0067 | 0.066 0.064 0.063 0.062 0.061 0l D06y~
0.055 0.054 0.053 0.052 0.051 0.049 i 047 g 004675 &, 16 1.337 1.746 23120 2583 2.621 4015
0.045 0.044 0.043 0.042 0.041 0.040 d Al i7 1.333 1.740 2.110 2.567 2.898 3.965
0.036 0.035 0.034 0.034 0.033 0.032 18 1.330 1.734 2.101 2.552 2.878 3.922
0.028 0.028 0.027 0.027 0.026 0.026 19 1328 1.729 2.093 2.539 2861 3.883
20 1.325 1.725 2.086 2.528 2.845 3.850
0.023. | 0.022 0.022 0.021 0.021 0.020
0.018 0.017 0.017 0.017 0.016 0.016 21 1.323 1721 2.080 2.518 2831 3819
0.014 0.014 0.013 0.013 0.013 0.012 22 1.321 1.717 2074 2.508 2819 3.792
0.011 0.010 0.010 0.010 0.010 0.009 23 1.319 1.714 2.069 2.500 2.807 3.768
0.008 0.008 0.008 0.008 0.007 0.007 24 1.318 1.711 2.064 2.492 2.797 3.745
28 1316 1.708 2.060 2485 2.787 3.725
0.006 0.006 0.006 0.006 0.006 0.005
0.005 0.005 0.004 0.004 0.004 0.004 26 1.315 1.706 2.056 2.479 2779 3.707
0.003 0.003 0.003 0.003 0.003 0.003 27 1314 1.703 2.052 2.473 2.771 3.690
0.003 0,002 0.002 0.002 0.002 0.002 28 1.313 1.701 2.048 2.467 2.763 3.674
0.002 0.002 0.002 0.002 0.002 0.002 29 1311 1.699 2.045 2.462 2.756 3.659
30 1.310 1.697 2.042 2.457 2.750 3.646
0.001 0.001 0.001 0.001 0.001 0.001
0.001 0.001 0,001 0.001 0.001 0.001 40 1.303 1.684 2.021 2.423 2.704 3.551
0.001 0.001 0.001 0.001 0.001 0.001 56 1.299 1.676 2.009 2.403 2.678 3.496
0.000 0.000 0.000 0.000 0.000 0.000 60 1.296 1.671 2.000 2.3%0 2.660 3.460
0.000 0.000 0.000 0.000 0.000 0.000 70 1294 1.667 1.994 2381 2.648 3435
80 1.292 1.664 1.9%0 2374 2.639 3.416
90 1.291 1.662 1,987 2.368 2.632 3.402
100 1.290 1.660 1.984 2.364 2,625 3.390
110 1289 | 16w | 1982 | 236 2.621 ‘ 3361
120 1.289 1.658 1.980 2.358 2617 3373
o 1.282 1.645 1.960 2.327 2.576 _ 3.291
o 2
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TABLE Percenlage poinls of the chi-square dislitbulion (y3,)°

WkE R e

u
d 005 .04 025 .05 40 25 50 75 S0 95 975 .99 995 999
| 0093  0.0Y57°  0.0%982¢ 000393 002 010 045 1.32 271 384 5.02 6.63 788 108}
2 00100 0.0201 0.0506 0.103 021 058 139 217 4.61 5.99 1.38 921 1060 1318
3 00717 0.115 0.216 0.352 058 121 237 4.11 6.25 1.81 935 1134 1284 1627
4 0207 0.297 0.484 0.711 106 192 M 36 5.39 1.78 949 1114 1328 1486 R4}
5 0412 0.554 0.83t 1.15 l.6! szﬁﬂgﬁ 435 6.63 9.24 1107 1283 1509 1675 2052
o ¢>
6 0676 0.872 .24 1.64 é.lfa-%"?fﬂ 1064 1259 1445 1681 1855 2246
7 0989 1.24 1.69 217 @F 1202 1407 1601 1848 2028 2432
8 134 .65 2.18 3 221:"* 13.36 1551 17.53 2009 2195 2612
9 113 20 70 8. 1.39 "'. 1692 19.02  21.67 2359 2788
10 216 2.56 3.25 1831 2048 2321 2519  29.59
1 260 305 382 19.68 2192 2472 2676 3126
12 307 3.57 4.40 21.03 2334 2622 2830 13291
13 357 411 5.0t 2236 2474 2769 2982 3453
t4 407 4.66 5.63 2368 2612 29.44 3132 3612
15 460 523 6.27 2500 2749 3058 3280 3770
16 514 5.8l 691 4 VT = 23 54 2630 2885 3200 3427 3925
17 570 641 1.56 8.67 tllir 2477 2759 3019 3341 3572 4009
1B 620 701 8.23 9.39 086 - 2599 2887 3153 3481 3116 4231
19 684 1.0} 891 10.12 w’ﬂ%ﬁﬂw 2720 3044 3285 3619 3858 4182
0 143 8.26 9.59 10.85 19.34 2841 3141 3417 3157 4000 4502
20 BO3 K90 10.28 1159 1324 1634 2034 2493 2962 3267 1548 IRYY} 4140 4680
22 Hod y.54 10.98 12.34 1404 1724 2134 2604 0B 3392 I6IR 40.29 4280 4R27
23 9206 10.20 11.69 1300 1485 1804 2234 27.04 3201 3517 3BOB 4164 4418 497
24 9.89 10.86 12,40 1385 1566 1904 2334 2824 13320 3641 3936 4298 4556 5118
25 1052 11.52 13.12 14.61 1647 1994 2434 2934 13438 3765 4065 4431 4693 5261
26 1016 1220 13.84 15.38 17.29 2084 2534 3043 3556 3889 4192 4564 4829 5405
27 1181 1288 14.57 16.15 1801 2175 2634 3153 3674 4011 4319 4696 49.64 5548
28 1246 13.56 15.31 1693 1R94 2266 27.34 1262 3792 4134 4446 4B28 5099 5689
29 1312 14.26 16.05 7.1 1977 2357 2834 1371 W09 4256 4592 4959 5234 5SRO
30 1379 1495 16.79 18.49 2060 2448 2934 3480 4026 4377 4698 5089  S5¥67 5970
40 20.71 2216 24.43 26.51 2905 3366 3934 4562 SIBI 5576 5934 6369 6671 7340
5002199 297 32.36 34.76 3769 4294 4933 5633 6317 6150 T4 7615 7949 B
60 3553 3748 40.48 4319 4646 5229 5933 6698 7440 79.08 8330 883E 9195 99.61
70 4128 4544 48.76 51.74 5531 6170 69.33  77.58 8553 9053 9502 10042 10422 | 12.32
80 5147 5354 57.15 60.19 6428 T1.14 7933  88.13 9658 10188 10663 1(231 11632 124.84
90 59.20 61.75 65.65 69.13 7379 80.62 8931 9864 10756 11314 11814 12412 12830 13721
100 6733 10.06 74.22 7793 82.36 90.13 9933 109.14 11850 12434 12956 13581 14017 149 45
*x3, = uth percentile of a x? distribution with d degrees of freedom.
b= (1L0000393
= 0.000157
4= 0.000982




